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Probabllity Notes

1-1nl£lliil1.rn[3ctild:en.ud multiple births, what is the sample space if birth
order is considered (i.e., BBG 15 different from BGB)?

BBR GBR GBRG

EEe GO AGG
2. lnpm%!ﬁ!% nn{-ﬁ-?u p%nhlﬁli’qd'mwmﬁﬂlmﬂlhﬂr. in that order? Of
hﬂuipﬂltﬂlhnymlmjrudeﬂ
=8
 P(G6BY GBLY BLG) =78 |
e o 0 ey D e e
.g::-lmmh getting:
P(®=04 {}? -pF 0:2
Sl A —pm 0.2
P{'F)'; 01315 0 ﬂ%m pm 0
o) a female a.id a Demov.at 05 —RF 0.16
-0.2 D] At
P(F”D)‘ D" W\ ﬂ\ -ﬂm 0 45
d) a Republican male 75 M :

p(rNMY= 0,45

&) a Democrat or a male

P(DUMY=0.2+0.2.¥0.A5 = 0.85

R VY= 0.2+ 0.15+0.45 = 0.8

4. Given that P(A) = 4, P (B) =.5, and P (B | A) = 8, find the following probabilities:
0 PAsdB) = PLAYP(BIA) =(0.4)(0- 8= 0,32
WPAorB = P(A) +P(B) - XAUB) = () 4 +0.D -0 32:0.5%
PAB = (A ARY) _ 0.32

pANB) . 0.3 _ 0. 64
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5 Below (s a table of past records giving probability data for a dnver having an accident
(A) and whether or not is Was mining,
No Raln g
Accldent _g_% 0015 ;0 :l;
o nt __EE ﬁlﬂ o |
0.3 0. b4 - FR
a) What is P(rain)? P[Rﬂ\ﬂ)t 0%{0
b Whatis Bceiden? Dface Jert) = 0.4
c) wmumwixydmmmmmm:_mmﬂ UN&ZE : f_) Dtb’-".dr

placcident fraining)= "0 30
d) What is the probability of an accident if it is not raining? s 14 = ey () ng

P(accident | m“‘““f}‘) 0%

0 ﬁnrﬂnmhuﬂn:lnm“"ﬂﬂ”d“ﬂhﬁ:k 0(AY-P(RY = 0.3L*0Y =

PANR)=0.625

6 A mmlﬂﬂﬂ%{hm gmi?undinaﬂf;pumlﬂm
| have developed a low cost test .
ﬁ&rm , the test gives a positive resull percent of the time for people who

do not have the trail , the test gives a negative result 0.3 percent

in fact have the trait. Use a probability tree to help you angwer the followi i revs |
mﬁ“p{ -,{}mqqq-f-o.mﬂﬂ&:a.ﬂﬂ*#ﬁ || pOECEROET |
e

a) What is the lity that a person selected at random has the trait?
b) What is the probability that a person chosen at mndom would test positive for the trait?

CH)=6.01994+0.049= 0 .06894

What is the uwu-mmﬂymmdpnmwmmpuumrmumwt
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not have the trait? |
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1 HAVE Eﬂ" + — Donr 4 0.049
T
x"*a. gt %——-—vnmr-— 0.%3 .1
\ 0.04
P (deesn™ have |fested -+ = 044
( \ o) 0.01994 + 0.044
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